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Halloween Multiplication

Solve the following word problems.

On halloween night, each house on EIm Street
gives out 5 candies. If there are 8 houses on Elm
Street, how many candies could you get?

In a halloween party, there are 4 tables and each
table has 8 halloween cupcakes. How many
halloween cupcakes are there in total?

A halloween store sells 6 bags of fake spider webs.
Each bag contains 4 spider webs. How many fake
spider webs are there in the bags in total?

If a halloween party needs 9 pumpkins and each
pumpkin costs 5 dollars, how much will all the
pumpkins cost?

In a halloween contest, each participant needs to
carve 8 pumpkins. If there are 4 participants, how
many pumpkins do they need to carve in total?

A halloween party has 8 bowls of candy. Each bowl
has 9 candies. How many candies are there in
total?

A boy has 3 bags of halloween candy. Each bag
contains 6 candies. How many candies does the
boy have in total?

8 If a pumpkin pie costs 7 dollars and you buy 8 pies
“N ) for a halloween party, how much will you spend?
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